0'-01/4"

1. STEEL PLATE 8X3X3/4
2. L5X5X1/2 LEDGER PER
PLAN

05-000 Angle Splice

11/2" =1'-0"

185

NOTE:

PROVIDE CONTROL JOINTS AT 15'-0" MAX. EACH WAY (U.O.N.)

PROVIDE SAW CUT WITHIN 24 HOURS OF POUR
SEALANT WITH FINE

1/8" MAX. _
6" CONCRETE SLABWITH#3 JZ 1/8" MAX. RADIUS
g @ 18" EACH WAY (3,000 PSI) f
. ',Avﬁg,u : % - i f ) § ' A<;,U 2 . :
# 4 T o A Py “a
[T T TT—11] 'H'\ 11 T 111111 \H’/\H'*l
S=EIEIEIEIE | SIEIES=

SAW CUT (SJ) COND "A"

TYP. CONTROL JOINT

1 " 1I_oll

164

HAND TOOL JOINT (TJ) COND "B"

e
N

1. TYPICAL (2) #5 REBAR @
EA. END OF VERTICAL
CONTROL JOINTS

2. CONTROL JOINT @ 48"
o/C

3. DEEP RAKED VERTICAL
JOINTS (SEE PLANS)

4. TYP. CONC.
REINFORCEMENT PER PLAN
OR TYP. CONC. WALL
REINFORCEMENT AT
INTERSECTIONS

5. CUT EVERY OTHER
HORIZ. BAR @ EVERY
CONTROL JOIN

6. CONTROL JOIN 40-0" O/C
MAX

AN

T
-

. 3/4"BOLTS @ 3-1/2" GA
.3/8"L4" x4" NS + FS

.(2) 3/4" DIAMETER = 8" LB A. B. C 4" GA
.#5BAR @A.B'S

. PRECAST TILT UP WALL PANEL

. PANEL ROOFING

. STEEL BEAM PER PLAN

. PURLIN OR EAVESTRUT

O~NOOTAWN =

05-002 Floor Col. to Beam @ Edge

11/2" =1'-0"

1. FLOOR
2. COPE

3. STEEL ROOF BEAM PER
PLAN

4. 3/8" STEEL STIFFENER 3"
NS +FS

5. 5/8" STEEL PLATE AS
SHOWN 10" x 8"

6. (2) 3/4" BOLTS @ 3-1/2" GA

|
| T%
|
|
|
|

05-002 Floor Beam to Beam @ Edge

11/2" = 10"

i

2. COPE AS REQUIRED
3. (2) 3/4" BOLTS @ 3-1/2" GA
4. STEEL ROOF BEAM PER

i —— e

N

y o7 g

1 ] - 7QV

f=) @\::::::::::::
1. VULCRAFT 2C CONFORM

14"]/ DECK W/ 5" THICK TOTAL
THICKNESS LIGHT WEIGHT

CONC. W/ 4X4X-W2.9 WWM

IN CENTER OF SLAB

PLAN
5. STEEL ROOF BEAM PER
PLAN
6. 3/8" STEEL STIFFENER 3"
NS + FS
@ 05-001 Floor Beam to Beam @ Edge
1 1/ L L] = 1l_0ll
.d 2]

L 1. BAR JOIST PER PLAN

1. VULCRAFT 2C CONFORM
DECK W/ 5" THICK TOTAL
THICKNESS LIGHT WEIGHT
CONC. W/ 4X4X-W2.9 WWM
IN CENTER OF SLAB

2. COLUMN PER PLAN

3.(2) 3/4" BOLTS @ 3-1/2" GA
4.1/2" STEEL PLATE AS
SHOWN

5.1/2" STEEL PLATE AS
SHOWN__

6. STEEL BEAM PER PLAN
7. COPING AS NEEDED

8. STEEL BEAM PER PLAN

9. STEEL BEAM PER PLAN

10. (2) 3/4" BOLTS @ 3-1/2" GA
11. (2) 3/4" BOLTS @ 3-1/2"
GA

12. 1/2" STEEL PLATE AS
SHOWN

05-000 Floor Beam to Beam @ Col.

11/2" =1'-Q"
\ \
\ \
\ \
| | 11
A
| |
Y S B N S < 4
Pl 4 A > 2 < . > < _ PN ~ N
J - ~ae o Lo A7 \)/ < . B
— e A e — ] \\ A
|
=]
3 |
O . ‘ m N
\ N 14" “weld
—_ = = = = = = — E truss
pOlins By LI
@k column.
VAN 1. COLUMN PER PLAN
7 2. VULCRAFT 2C CONFORM
DECK W/ 5" THICK TOTAL

THICKNESS LIGHT WEIGHT
CONC. W/ 4X4X-W2.9 WWM
IN CENTER OF SLAB

3. 3/8" STEEL L4" x 4"

4.(2) 3/4"BOLTS @ 3-1/2" GA
5. BEAM PER PLAN

6. BEAM PER PLAN

7. COPING AS REQUIRED
8.(2) 3/4" BOLTS @ 3-1/2" GA

05-000 Floor Beam to Beam @ Cor. Col. with Truss

11/2" =1'-0"

16

O

1. VULCRAFT 2C CONFORM
DECK W/ 5" THICK TOTAL
THICKNESS LIGHT WEIGHT
CONC. W/ 4X4X-W2.9 WWM

IN CENTER OF SLAB

1/2" PLATE WELDED TO BEAM
BEAM PER PLAN

COPING AS REQUIRED

(1) 3/4" HIGH STRANTH BOLTS

aokrwd

— ——

05-000 Floor Beam to Beam @ Edge

67

11/2" = 1'-0"

[N
i~

114"

1. VULCRAFT 2C CONFORM DECK W/ 5"
THICK TOTAL THICKNESS LIGHT
WEIGHT CONC. W/ 4X4X-W2.9 WWM
IN CENTER OF SLAB

3/8" STEEL L5"x2-1/2"

TRUSS PER PLAN

BEAM PER PLAN

COPE AS REQUIRED

: Al 8] 2. VULCRAFT 2C CONFORM DECK W/ 5"
THICK TOTAL THICKNESS LIGHT
/\/ WEIGHT CONC. W/ 4X4X-W2.9 WWM IN
CENTER OF SLAB
3. PRECAST TILT WALL PANEL
4.3/4"X 8" b AB. @ 32" %
5.#5BAR @ A. BIS
6. WALL ROOFING
7. STEEL L5"x5"x1/2"
i 8. BAR JOIST PER PLAN
03 - A - Conc. Wall Control Join
1Il - 1I-0Il - , - - - - - - a
. 1 : 4T P - < AL R . YA -
< @ A & oA, IO S 4 ) 74% . oh T R S o~
\ ‘ P N R \ . ERL N N 5 05-000 Truss to Wall
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, | J 11/2" =1'0"
5| _ Oll . ,\\A.A/;\/\ ,
o N \ \
o | |
1. VULCRAFT 2C CONFORM DECK W/ 5" THICK TOTAL T & |
THICKNESS LIGHT WEIGHT CONC. W/ 4X4X-W2.9 WWM IN (e 3 | |
CENTER OF SLAB e - O
2. 1/2" STEEL PLATE S | /
3. (2)3/4"BOLTS @ 3-1/2" GA e T g
0-2" 4. BEAM PER PLAN L © | |
- A 5. 4"x4"x1/4" ANGLE WITH (1) 3/4" HIGH STRANGTH BOLRS T A | 10 | |
© CLR 6. COL.PER PLAN - — T —— —
% | 7. 5/8"x6 1/2" AB SHOWN S | | T A N S . /é 9 S G
‘ 8. 1/2" STEEL PLATE STIFFENER S 1/4'V T | EREE N T2 O REEEN L L e
- . 9. COUNTERLEAVING DECK FOR 5'-0" PAST CONC. WALL. RS | | / AL \ - /x/ M \. S < T YT\ - /¥ \ -
FACE OF CONC. ——= i 10. CONC. TILT WALL PER PLANS. S | | - I : \ AL A\ A
OR POUR JOINT @ q 11. (2) SHOT PINS IN TO CONC. WALL AT EVERY BOTTOM OF P )
STANDARD HOOK . THE DECKING s | ‘\F
12. TS2 1/2"x 2 1/2" x 1/4" x 6" FASTEN TS TO METAL DECK W/ # o
10 TEK SCREWS. L Y | |
|
°
Ko}
OUTSIDE FACE : D % ‘
OF CONFINING \ ¥ |
TIE @ SEISMIC N _ !
HOOK L
. ‘ 05-003 Floor Beam to Beam @ Deck Cont. |
‘ 2 1/2" MIN *4%4 b, #3 THR 112 = 1o -1 B
5 db ,
#9, #10 AND #11 , 1. VULCRAFT 2C CONFORM DECK W/
, EMBEDMENT | 5" THICK TOTAL THICKNESS LIGHT
7 LENGTH [ WEIGHT CONC. W/ 4X4X-W2.9 WWM IN
NOTES: CENTER OF SLAB
ALL HOOKED BARS SHALL EXTEND AS FAR AS POSSIBLE TO THE oA 2. BEAM PER PLAN
OPPOSITE FACE WITH A MIN. OF 2" END COVER AND EMBEDMENT NOT 4 | 3. COLUMN PER PLAN
LESS THAN THE SCHEDULED — - L 7 A 4.3,000 psi CONCRETE TILT
2. MIN. SIDE COVER =2 1/2" A o / EE 1. VULCRAFT 2C CONFORM DECK W/ - FEEN | ‘ 5. COLUMN PER PLAN
3. FOR WALLS FOOTING DOWEL EMBEDMENT LENGTHS SEE TYPICAL 4 Y AN 5" THICK TOTAL THICKNESS LIGHT ) 6. COPING AS NEEDED
BAR SPLICE DETAIL WEIGHT CONC. W/ 4X4X-W2.9 WWM 7. 1/2" STEEL PLATE AS SHOWN WITH
. IN CENTER OF SLAB (2) 3/4" HIGH STRENGTH THRU BOLTS
2. 1/2" STEEL L5"x2-1/2" AT EACH CONNECTION SEE DETAIL
276 3. 3/4"HIGH STRANTH THRU BOLTS FOR SIZE AND WELDING.
-A - i ' 4. BEAM PER PLAN 8. (2) 3/4" HIGH STRENGTH THRU
03 - A - Conc. Hook Detail 5 | 5. COPE AS REQUIRED BOLTS
11/2" =1'-0" 0 ® k 6. NOT USED 9. BEAM PER PLAN
o |5 114" '
> ™~
. G
05-000 Truss to Wall1
1:6 MAXIMUM —
TYP. CLASS-B 30" MIN SHOP OFFSET —J_— 11/2"=1"-0
UNO BEND
= . 05-004 Floor Beam to Beam @ Edge
4 O 1 1/ Il= 1l_0ll
/j< : \ 3/16 37 _51\2
NO CONTACT LAP 7 , . A /
2 NOTES : 1. DOOR OPENING RIS PSS ‘ A N A A ‘ R .
= *1. PROVIDE STANDARD HOOK ON TRIM BARS 2. WINDOW OPENING et A e Sl JT e T e S e
© WHERE STRAIT CANNOT BE MAINTAINED 3. SLAB ON GRADE — e :
o ] ) 4.FOOTINGSPERPLAN A
2 = A 2. SEE TYPICAL "CONCRETE BLOCK WALL 5. (2) #5 REBAR 30" PAST OPENING
= 30" SPLICE REINFORCING AT INTERSECTIONS" 6. (2) #5 REBAR @ TOP MIN.
- LENGTH FOR MINIMUM CONCRETE BLOCK WALL 7. VERT. REBAR PERPLAN  ——— ey —
REINFORCING 8. EXTEND BARS OR LAP WHERE
- POSSIBLE \
30" SPLICE 9. TOP CONDITION PER PLAN \
LENGTH 10. (1) #5 REBAR BENT DOWELS @
EDGES 18" 0-g" \ 18"
. . 11. (1) #5 REBAR BENT DOWELS @
03 - A - Conc. Bar Slice Details 10 EACH SIDE OF DOOR

11/2" =1'-0"

1. PROVIDE FOLLOWING
- (2) #5 REBAR UP TO 6'-0" OPENING
- (2) #6 REBAR UP TO 8'-0" OPENING
- (2) #7 REBAR UP TO 14'-0" OPENING
. CONC. WALL PER PLAN
. (2) #5 REBAR MIN
.#4 @ 8" O/C WHERE LINTEL HIGHT IS < 4'-0" & >2'-0"
.#5 @ 8" O/C WHERE LINTEL HIGHT IS < 4'-0" & >2'-0"
.#3 TIES @ 8" O/C
.135° HOOK
. EDGE REBARS PER PLAN

O~

oNOGOPR~WN

—®

R S, /_@ @ 8" CONC, BLOCK SECTION

—

a

B | 1.
| p——
R

&

@ HEAD BARS SECTION e JAMB BARS SECTION

180

03 - A -Conc. 8" Wall Head & Jamb Detail

11/2" =1'-0"

1

30" MIN

1! _ Ou

MIN

03-A-

Conc. 8" Openings

1/2" = 1'-0"

1. 3/16" HSS 2-1/2" x 2-1/2"
2. BAR JOIST TOP CHORD

3. 1/2" STEEL PLATE STIFFENER
4.1/2" STEEL L5"x5"

5. 3/4" x 8" ANCHOR BOLTS (typ.)

05-000 Truss to Angle
11/2" =1'-0"
T

1/4"

>

1.VULCRAFT 2C CONFORM DECK
W/ 5" THICK TOTAL THICKNESS
LIGHT WEIGHT CONC. W/ 4X4X-
W2.9 WWM IN CENTER OF SLAB
2.1/2" STEEL PLATE
~ 3.(2) 3/4"BOLTS @ 3-1/2" GA
=~ 4. BEAM PER PLAN

\

\

/)

)

114"

5. BEAM PER PLAN

6. 3/4" BOLTS @ 3-1/2" GA

7. COL. PER PLAN

8. 5/8" STEEL PLATE AS SHOWN
9. 1/2" STEEL PLATE STIFFENER

{

3\

05-000 Floor Col. to Beam @ Edge

112" =1'-0"

i

168

169

p
W/ 5

COLUMN PER PLAN
3/8" STEEL STIFFENER
BEAM PER PLAN

ONOGORWN

05-000 Floor Beam to Beam @ Edge Corner

11/2" =1'-0"

NN

EQ

—

abrwN

VULCRAFT 2C CONFORM DECK W/ 5" THICK
TOTAL THICKNESS LIGHT WEIGHT CONC. W/
4X4X-W2.9 WWM IN CENTER OF SLAB
TRUSS PER PLAN

BEAM PER PLAN

COPE AS REQUIRED

BEAM PER PLAN

05-000 Floor Beam to Truss @ Edge

11/2" =1'-0"

154

S . D ENGINEERING AND ASSOCIATES

LAND PLANNING AND CIVIL ENGINEERING
242 E. AIRPORT DRIVE, SUITE 212 - SAN BERNARDINO, CALIF. 92408
PHONE (909) 884-7090 FAX (909) 884-7090

Revision
Number Description Date
2 Plan Check #2 10-13-2014
3 Plan Check #3 Final 2-23-2015
1. VULCRAFT 2C CONFORM
DECK W/ 5" THICK TOTAL
THICKNESS LIGHT WEIGHT
CONC. W/ 4X4X-W2.9 WWM
IN CENTER OF SLAB
2. SPACE FOR TRUSS
3.(2) 3/4" BOLTS @ 3-1/2" GA
4.1/2" STEEL PLATE AS
SHOWN
5. BEAM PER PLAN
6. (2) 3/4" BOLTS @ 3-1/2" GA
7.3/8" STEEL L4" x 4"
05-000 Floor Beam to Beam @ Col.1
11/2" =1'-0"
“ A
<"ZL) 7,
; /:\ g
AT
< )
- N - X < s N % A
vt %’) < 7\’ ‘/A* \» 4
o - L L= S /
4 </
1
3/16 ;E E ~ :\ -
S 2t
: | ]
e R T
\/4 ot - > ‘ Ol _ 8" ‘
oy < ’)/‘ | i q
a4 T | | 1. STEEL ROOF BEAM PER
n - \/ :\ /\, - 5 PLAN
) -5 \ \ 5 2. VULCRAFT 2C CONFORM
NS DECK W/ 5" THICK TOTAL
0 | | THICKNESS LIGHT WEIGHT
<4 CONC. W/ 4X4X-W2.9 WWM IN
Coh | | CENTER OF SLAB
i ‘ ‘ 3. 3/8" STEEL STIFFENER 3" NS
+FS
4.(2) 3/4" BOLTS @ 3-1/2" GA
5. 1/4" STEEL HSS 6" x 6"
6. 5/8" STEEL PLATE AS
SHOWN 10" x 8"
05-000 Beam to Col.
11/2"=1'-0"
1. 6x6- STEEL W2.9x2.9
2. VULCRAFT 2C CONFORM DECK W/ 5"
THICK TOTAL THICKNESS LIGHT
WEIGHT CONC. W/ 4X4X-W2.9 WWM IN
CENTER OF SLAB
3. PRECAST TILT WALL PANEL
4. WALL ROOFING
5.#5BAR @ A. BIS
6.3/4" X 8" b AB. @ 32" %
7. STEEL L5"x5"x1/2"
05-000 Angle to Deck
11/2" =1'-0"
1. BAR JOIST C4' %
2.VULCARAFT 2C
CONFORM DECK W/ 5"
THICK TOATAL
THICKNESS LIGHT
WEIGHT CONC. W/ 4X4X-
W2.9 WWM IN CENTER
OF SLAB
3. ROOF OR FLOOR BEAM 316/
PER PLAN
- = S - = <A S N N I -~ ﬂ ;//; e g S X
S **4\/\,/\ ”/4”¢ T \AN,/ s \g/ N SIS ST \4\ \7}< “- %7é L
i e — < L D SRS - 2 . L & - ~
\&‘{*7"\,7 v z/V\» /V\ <
’i\ y - a A\ / \’4)\ A y AU B
N
- ; <

05 - 000 Floor Beam to Truss Detial

11/2" =1"-0"
\ \
| |
| / 0'-21/2"
[O’—'I 1/2" E
\
-Av T P S IE s < 4
[? e R «A 4 :fA\ o i ° ! =) \ i’ .
- > ) A .- 7 < 3
o
il —~ Rl // -
E__',‘v :(Lg i \ I 1/4
L |
. ¢} \ o]
e g + e I o 8
' Q&
° 7" A | © H e
\
N | I 2
1/4" E‘
S |5
0'-11/2 -

150

0-21/2"

1.

VULCARAFT 2C CONFORM DECK W/ 5" THICK
TOATAL THICKNESS LIGHT WEIGHT CONC. W/
4X4X-W2.9 WWM IN CENTER OF SLAB

2. COL. PER PLAN

3.
4.

BEAM PER PLAN
1/2" STEEL PLATE AS SHOWN WITH (2) 3/4" HIGH

STRANGTH THRU BOLS AT EACH CONECTION SEE

DETAIL FOR SIZE AND WELDING

05 - 000 Floor Beam to Col. Detail

11/2" =1'-0"

Recycling Center For:

HOISTON INT'L
ENTERPRISES INC.

13-940
6-31-14

2192 W. HIGHLAND AVE. SAN
BERNARDINO, CA 92407

D600

Details




	Sheets
	D600 - Details
	S100 - Schedules & Notes
	S200 - Fondation Plan


